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Dumps (PDF & VCE) 75Q& As Download: http://www.braindump2go.com/200-150.html  2.|2017 New Version 200-150 Exam
Questions & Answers Download:https://drive.google.com/drive/folders/OB75b5xY LjSSNX3RoSV RKNy1GR3M 2usp=sharing
QUESTION 1A network engineer is verifying Layer 2 connectivity of a server to a Cisco Nexus switch by checking the Address
Resolution table statistics. Which command shows the MAC address, physical interfaced, VLAN and | P address of a server on a
Cisco Nexus switch? A.  show Ip arp interfaceB. show Ip arpC. show Ip arp detailD. show arp detail Answer: C QUESTION
2Which addresstypeisused in IPv4 but isnot used in IPv6? A. multicastB. broadcastC. anycastD. unicast Answer: B
QUESTION 3A network uses on pair of Layer 3 switches for core and distribution purposes. Which design is this network using? A.

collapsed coreB. collapsed distributionC. collapsed Layer 3 coreD. collapsed Layer 2-3 Answer: A QUESTION 4What isthe

minimum number of disksthat are needed in RAID 1?7 A. 4disksB. 2disksC. 8disksD. 16 disks Answer: A QUESTION 5
What is the minimum number of fabric modules that should be installed in the Cisco Ne*js 7000 chassis for N 1 redundancy using
MI-Serieslinecard? A. 3B. 4C. 5D. 6 Answer: A QUESTION 6Which address and subnet combination is valid for a host
assignment? A. 172.23.175.210/15B. 10.100.74.127/25C. 192.168.73.223/29D. 10.230.33.15/28 Answer: C QUESTION 7
Refer to the exhibit. What two conclusions can be mode based upon the output? (Choose two.) A. regular fromat WWNs are being
usedB. the command show flogl database was runC. the command show fcns database vsan 1 was runD.  registered name
formate WWNs are being usedE.  extended format WWNSs are being used. Answer: BD QUESTION 8A customer requires two
separate physical pathways between multiple initiators and multiple targets. Which technology meets this requirement on asingle
Cisco MDS9148 switch? A.  zoningB. port securityC. LUN maskingD. VSANsAnswer: D I''IRECOMMEND!!! 1.]2017
New Version 200-150 Exam Dumps (PDF & VCE) 75Q& As Download:http://www.braindump2go.com/200-150.html  2.]2017
New Version 200-150 Study Guide Video: Y ouTube Video: Y ouTube.com/watch?v=Sii4h8vOul 0
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